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Time : 4Hrs.

Full Marks   : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer One questions from Group B, each question 

carries 20  marks.

Answer  One questions from Group C, each question 

carries 40  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)Centre line in drawings is shown by ........

line .

(a) Continuous

(b) Hatching

(c) Chain

(d) None of these 

(a) Half

(b) Full

(c) Both (a) and (b) 

(d) None of these .

(i)

O4035 O4035

P.T.O
Petrol Engine Piston

(All dimensions are in mm)
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(iii)

(iii)

(iv)

(ii)

Rivets consists of ............. .

(a) Head

(b) Shank

(c) Tapered Tail

(d) All of above

Pulleys with groove is used with ..............

..... belt .

(a) Flat 

(b) V

(c) Circular

(d) Both (b) and (c)

O4035O4035

4.

Answer  One Questions. 

Two views of petrol engine piston is shown in
Fig. 1 Draw the following view .
(a) Elevation Right half in section
(b) Plan 

40

1X40=40

Fig. - 1 
Petrol Engine Piston

(All dimensions are in mm)
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(v)

(v)

(iv)

Keys are usually driver ............. to the
shaft axis .
(a) Perpendicular 
(b) Parallel
(c) Inclined
(d) None of these

(a) Lap
(b) Butt
(c) Both (a) and (b) 
(d) None of these

O4035 O4035

joint (zig-zag type) when diameter rivet is 

18 mm.

(a) Sectional elevation

(b) Plan (at least three rivet heads to be shown)

(vi)

P.T.O

3.

20
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(vii)

(vi)

keys .

(a) Sunk

(b) Round

(c) Saddle

(d) None of these

(a) Hexagonal

(b) Square

(c) Both (a) and (b)

(d) None of these

O4035O4035

(vii)

(viii)

(xx)

Answer any One Questions. 

2.

20x1 =20

20

Draw freehand sketch of any one of the following

(Two views only) 

(a) Foot step bearing

(b) Cotter Joint

(c) Protected type Flanged coupling .

P.T.O
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(ix)

(viii)

connects.............

(a) Piston and crankshaft

(b) Piston and crosshead

(c) Crosshead and crankshaft

(d) None of the above

is imagined to be removed .

(a) One fourth

(b) One third

(c) One half

(d) None of these

(xix)

(xx)

The center to center distance between two

consecutive rivets in a row is called .......... .

(a)  Margin

(b)  Pitch

(c)  Back pich

(d)  None of these

(a)  Clearance

(b)  Transition

(c)  Interference

(d)  All of the above

(xviii)

O4035 O4035

(x)

(xix)

(ix)

P.T.O
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(x)

shaft .
(a) Vertical
(b) Horizontal
(c) Inclined
(d) None of these

used .
(a) First
(b) Second
(c) Fourth
(d) All of the above.

(xvii) In orthographic projection, projectors are 
............... to the plane of projection .
(a) Perpendicular 
(b) Parallel
(c) Inclined
(d) None of these

is .............. than the thickness of main plate.
(a) Less
(b) More
(c) Equal
(d) Any of the above

(xvi)

O4035O4035

(xvii)

(xi)

(xi)

(xii)(xviii)

P.T.O
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P.T.O

(a) 1:2

(b) 2:1

(c) 1:1

(d) None of the above

lines .

(a) Continuous thick

(b) Continuous thin

(c) Chain 

(d) All of the above .

steam .
(a) Regulates
(b) Completely shut off
(c) Both (a) and (b)
(d) None of the above .

standard nut .
(a) More
(b) Equal
(c) Less
(d) (a) and (b)

(xii)(xiv)

O4035 O4035

(xiii)

(xv)

(xvi)

(xiii)

(xiv)

(xv)
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